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By Mr Mohamed Mostafa

1- Label the following diagram

ad giad) (ylatiaY)
L2 -

- \’,‘ »kf:t:’
L > ol

B D
A- Active site B- substrate c- enzyme substrate complex d- product

C
=

What occurs at the active site in the enzyme substrate complex?
a- An exothermic chemical reaction takes place. P
b- Chemical bonds are broken, and new bonds are formed. ‘.‘

.
¢- The enzyme gets used up in the reaction. :

d- The substrates provide energy for the enzyme. Enzy

How do enzymes affect a chemical reaction, making it easier to occur?
a- They raise the activation energy. b- They make the reaction exothermic.

¢- They make the reaction endothermic. d- They reduce the activation energy

What kind of chemical reaction does this energy diagram show?

A) Exothermic
B) Endothermic
) fonic f
D) Mass creating
A chemical reaction is a process by I DI (0 pgE Al g al ol
 which of the following are bonds figes by GGy by 2 e ‘,1 v. which atoms or groups of atoms in A bsagad S Slegan Which is true of | ? Tagilash cislaall e 3dall 000 Chlad G ()
roken and new bonds formed? ; substances are........ e )
— eAr AT sl S0 e e B DB Sy e
ras 0 e ..
chemical pactions 4 o) Dissolved in other substances g 2
gy S G e e Ay S B A jeaiad S 2o (glay B B pale S S Se
chneats ) Tonized by the loss of protons | = e o >
) A B e g pedl by o gl el ey o EDISlEA
SRR IS U S othor substinces Reactants are on the right side of the arrow and products are on the left side of the arrow 3
molecules 4k s G e A e S S 23 e S 23 33 A
L L Reorganized into different substances W] DA e Sa gl Sh Yo
Products have fewer atoms than reactants 4
e B S R e s A SR TSN B g b S Jm3 mEead Vel
Lenrning Outcomes Covered
A~ Tt raises the activation energy of a reaction

C- It allows the enzyme to catalyze very specific reactions

D- It allows intcraction to continuc without stopping

By Mr. Mohamed Mostafa



Water properties

9- What type of bonds attracts water molecules to each other and to other

substances?
a- covalent bonds b- double bonds

c- hydrogen bonds d- ionic bonds

10- Which of the following is a property of water that allows Insects to rest on the surface of water?

a- It combusts. b- Surface tension

c- Universal solvent. d-Itis adhesive.

B Based on the corresponding image, which of the following is a
proprietary of water insects to rest on the surface of water?

a- Itis cohesive.
b- It combusts. Mohamad Rajab
c- It is good solvent.

d- It is adhesive.

[ Based on the corresponding image, which of the following is a proprietary of water, helping Water
travels up in the stem of a plant?

a- It is cohesive.
b- It combusts.
c- It is good solvent.

d- It is adhesive.

Capillary action in glass tubes
Acid
. What do you expect to happen if the number of positive hydrogen ions released by the substance
increases in solution?
a- Its viscosity increases b-Its PH increases

c- Boiling point increases its ¢- Its acidity increases

23- What do you expect to happen if the number of Negative hydroxide ions released by the substance
increases in solution?

a- Its viscosity increases

c- Boiling point increases its

b-Its PH increases (Acidity decreases)
¢- Its acidity increases

A(n) is a substance that produces hydroxide ions (OH") in water, while a(n)
produces hydrogen ions (H’) in water.

By Mr. Mohamed Mostafa

By Mr Mohamed Mostafa

Which of the following is NOT true about pure water?

a- Water is adhesive, it forms hydrogen bonds with molecules on another surface.
b- Water is cohesive, it forms hydrogen bonds with molecules on another surface.

c- Capillary action is the result of Adhesion.

F\’hich statement is true based on this scale?

A) |Seawater has a higher concentration of hydrogen than tomatoes.
B) [T'omatoes have a higher concentration of hydrogen than seawater.
C) [Blood has no hydrogen ions.

D) |Household ammonia is neutral.




Function groups:

By Mr Mohamed Mostafa

S Saweie e Hon |eroup ] [Function ]
Proteins « Transport substances
= Speed reactions
« Provide structural
support
= Control cell growth
Carbohydrates « Store energy
« Provide structural
support
F
S
U Nucleic Acids « Store and
Lipids « Store energy communicate genetic
« Provide barriers information

Which of the following function can’t be attributed to carbohydrates?

a- Structural support b- Chemical signaling between cells

c- Energy storge d- Genetic information storage

Which of the following function can be attributed to lipids?

a- Speed reaction b- control cell growth

c- Energy storage d- Genetic information storage.

35) Which of the following functions can be attributed to carbohydrates?
Q structural support
QO signaling between cells
Q energy storage
Q all of the above

Correct Answer
all of the above

. L

- which of the following macromolecules id responsible for energy storage?
HA,C 2)A,D 3)C,D 4)C,B
27- which of the following macromolecules id responsible for Providing structural support?
1A, C 2)A,D 3)B,D 4C,B
28- Which of the following macromolecules id responsible for storing and communicating genetic information?
A 2)B 3)C 49D

Ahich of the folliowing macromolecules is
natched with its correct role In the cell?

ass e B AT Dkl Sliall e
ea,\u;,ie.-..n

<

Which of the fallowing fametione can t e
attribmied to carbohydrates *

P nm s A (s w0 L) iy F AN ASM e g

A~ Structural support

>
whossall daastmill ol
115 o

- Ay SR — Asgaall Jdslaa'i!
Nucleid acid — Trunsport substances |

| B- Signalling between cells Lan, St —y ""‘ul
Make 8
C- Encrgy storage - —
i : A Sasinnd k3 — cipaad
l D- Genetic information storage Al [ Lipica — Store genetic information |
H Elalill g jed— cdidy ,;“;
i“? Proteins — Speed reactiona § >
52) Which of the following functions can be attributed to nucleic acids and nucleotides? 62) Which macromolecule is involved in nearly every function in the human body? 3 2 o |
O long-term energy storage O lipid
O chemical signaling between cells O protein

QO genetic information storage and transmission

O carbohydrate
Q nucleic acid

Q barrier in biological membranes

Correct Answer
Correct A r protein

3-Phospholipid 2- Unsaturated 1- Saturated

genetic information storage and transmission

By Mr. Mohamed Mostafa
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Cell theory:

Q2. | Which is not part of the cell theory?
a. The basic unit of life is the cell.
b. Cells came from preexisting cells.

c. All living organisms are composed of cells.

d.

Cells contain membrane-bound organelles.

By Mr Mohamed Mostafa

Which of the following statement is principle of the cell theory?

a-The cells are basic unit of life
b- All living organisms are composed of one cell.
c-Tissue is the basic unit of life

d-All Cells contain membrane —bound genetic material

Plasma Membrane:

6- Which of the following letters represents a phospholipid bilayer in the cell membrane?

A B
C D

Mohamad Rajab
7- Which of the following letters represents the transport

protein in the plasma membrane?
A B C

. Which of the following letters represents the Membrane

protein in the plasma membrane?
A B €

. ‘Which of the following letters represents a cholesterol?

A B D

the cell

P
eyl

D

\

D
D

E

10- Which of the following letters represents a Carbohydrate chain?

A B D

E

inside the cel
i g

Q4. | Which of the following ori of phospholipids best rep: the phosphelipid bilayer of
the plasma membrane?
* | o90
C
b.
< @
E $8
e
d. “We
L5

Use the illustration below to answer questions 6 and 7.

RRARAR
%M%}%%@ «sg@i

st

Q7. [ Which is the effect of having the polar and nonpolar ends of phospholipid molecules oriented as
they are in the illustration?
a. | It allows transport proteins to move easily through the membrane,
| b. | It controls the movement of substances across the membrane.
¢. | It helps the cell to maintain its characteristic shape.
d. | It makes more room inside the phospholipid bilayer.

of the phospholipids have?

Q6. | Which number in the illustration represents the location where you would expect to find water-
insoluble substances?

a. 1

b. 2

c. 3

d. 4

In the iuatration below, which of the following

substances move out the cell through the membrane?

Tl c b ':'-" A0 Hyad e 3 "J;)‘.f‘

This picture shows a phospholipid bylayer. What crucial function do the nonpolar tails

__ Noopolar el

Qroups

A) Pppeed chemical reactions with enzymes

B)

keep water-soluble substances from passing easily into the cell

©)

fallow water-soluble substances to pass easily into the cell

‘. (®) Cartion chamicds wed Wastes

o&m-mm

D o Vaor wna Ghicosn
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D) |help encode genetic material
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Cellular transport

‘Which method of cellular transport can you see in the picture (large substances can enter a cell by)?
a-Na+/K+ ATP Pump Outside What is a significant difference of endocytosis and exocytosis?

the cell

b- Facilitated diffusion PSSR

& ' A) [Exocytosis does not require energy input.

c- Exocytosis Mohamad Rajab : : :
B) [Endocytosis does not involve waste secretion.

d- Endocytosis - - -
C) [Endocytosis does not require energy input.

‘Which method of cellular transport can you see in the picture?

D) [Exocytosis does not maintain homeostasis.

a- Osmosis Outside the cell
b- Facilitated diffusion Some cells use pumping systems, such ppeigall dhan S e Al paiioy UNAD e [
as the Na /K° ATPase pump shown here La a5 (Na“ /K ATPase) agpilpd
Which of the following shows how this pump works? TAA Al i Jee AAS gl L lae g

¢- Exocytosis
d- Endocytosis

Which of the following statements is not true?

a- Cell maintain homeostasis using passive and active transport.

e s s g P ST

el 1 (KY) e

b- Active transport occurs against the concentration gradient.

h

c- The diffusion of water across a selectively permeable ane is called i

d- large molecules are transported into the cell by carrier proteins

Transport 2 fons (Na<) out of the cell while moving PO 7:’“:( —_—
The Ngure below shows one of the cellular transfer GHAD A Slles (sin) Oy olial JEAN = ‘:4 cixoaaliay
methods. Study it and then answer the question 103D B il 45 il
Which of the tollowing transfers is shown in the figure? N " e o
AL gady S0 Slplats e J' Transgelt 2 lons (Na+) into the cell while moving e G e
3 (K+) ions out of the cell - KT)

o =33

Focat et ove snsnnmanay I e sgesses e BB o= -
1 © Fictatos attusion by channel A
bl el prowns ) Sy Uady ) N D

i B S, -

“ dadia £

o e
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Diffusion and osmosis:

Hypertonic solution Hypotonic solution Isotonic Solution

The cell shrinks The cell swells Functioning cell
and wrinkles. up and bursts. of normal size.

The figure below shows a blood cell placed in a solution. Which of the following is the solution used? Which of the following describes what will happen to animal cell in a Isotonic Solution?

a- Hypotonic solution S e . a- Swell ST
b- Isotonic Solution - : m b- The cells retain their normal shape Woter. . ® -
¢- Hypertonic Solution - — ¢- Burst Lo Y
PN : d- firmer .
d- Osmosis . v socule ~ —
‘Which of the following describes what will happen to animal cell in a

a- Shrink.

a- Hypotonic solution
e b- normal shape

b- Isotonic Solution ¢- Burst (swells)

c- Hypertonic Solution d- Wilting

d- No one of these —

Which type of solution cause an animal cell to Shrivel like the picture below? a- Swell
b- Shrivel (shrinks)

a- Hypotonic solution

2 ¢- Burst
b- Isotonic Solution

d- firmer
c- Hypertonic Solution

d- No one of these

[The picture shows the movement of ink molecules in water. Which of the following
Iprocesses has occurred?
I~ - X 4
-~ - =N -
t ‘ - - e -
c-Aand C d-B and D
o o o—— o -
eeee LR B N 3 °°°°°°°°°.: :°°°° e o
°
QS =EN = g R RS Sais ‘e 77) The spread of a drop of food dye throughout a glass of milk is called
eeee eeoe g ®e ege °°.‘o° eo o .
A) lendocytosis
B) losmosis
C) [diffusion Correct Answer
D) fexocytosis Blank 1: diffusion

By Mr. Mohamed Mostafa
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Compare between cells:

e Simple * Complex
= Has no nucleus = Has nucleus
= Has no membrane bounded organelles *» Has membrane bounded organelles
* Less in number e Larger in Number
= Most are Unicellular = Unicellular or Multicellular
= As bacteria * As Yeast( unicellular) , plant and
= Earliest types of cells on Earth animal cell
PROKARYOTE CELL, Both of Eukaryotes and prokaryotes has:
Pilus

Cell wall

—F

1- Cytoplasm
2- Ribosome

3- Cell membrane
4- DNA

Cytoplasm

ibosome

— Plasma membrane

rescience com

What kind of cell is shown in the picture? B2 During their mission to planet Mars, astronauts have found material that might be a cell. Which

a- prokaryotic cell b- blood cell of the following must the material have to be considered a cell?
¢- Animal cell d- plant cell a- The material must have a nucleus
Which of the following cannot be found in the cell shown in the image? =S b- The material must have a nucleus chloroplast
a- Cytoplasm b-DNA c- The material must have a nucleus mitochondrion
c- Plasma membrane d- Nucleus ‘ d- The material must have a cell membrane

The difference between prokaryotic and eukaryotic cells is that

a- prokaryotic cells have a flagellum. Which is true of prokaryotic and eukaryotic cells?
b- Prokaryotic cells do not have | -bound organell a) Prokaryotic cells are larger than eukaryotic
c- prokaryotic cells have cytoplasm. cells.

d- prokaryotic cells have no cytoplasm. b) Eukaryotic cells do not have nuclei, and
prokaryotic cells do have nuclei.

A major difference between prokaryotic and eukaryotic cells is that ¢) Proka s Bk b

a- prokaryotic cells have a flagellum. organelles, and eukaryotic cells contain

b- Eukaryotic cells have a nucleus. membrane-bound organelles.

c- prokaryotic cells have cytoplasm. d) Eukaryotic cells are simpler than prokaryotic
d- prokaryotic cells have no cytoplasm. (g-;@ ce"s‘l

Plant cell has

1- Cell wall

‘Which organelle is present in an animal cell but absent in plant cells?
2- Chloroplast

a- Centriole b- Chloroplast
3- Large central vacuole
¢- Nucleolus d- Vacuole
_ In which structure would you expect to find a cell wall?
iRl T Animases a- Human skin cell b- Cell from an oak tree (leaf cells from a tree)
cell wall v X c- Blood cell from a cat d-liver cell from a mouse
Which organelle is present in plant cells but absent in an animal cell?

Chloroplast v X

a- Centriole b- Chloroplast
Large central Vacuole v X ¢- Nucleolus d- Vacuole

- ‘Which organelle is large in plant cells but absent or small in an animal cell?

Centriole X v

a- Centriole b- Chloroplast
Lysosome X v ¢- Nucleolus d- Vacuole

In which structure would you expect to
Q12. | In which type of cell would you find a chloroplast? find a cell wall?
a) Human skin cell
a. prl_)lmrvole b) Cell from an oak tree
b. animal <) Blood cell from a cat
[N plant d) Liver cell from a mouse
_d; rL“R.lE A rigid layer that lies outside the cell's

membrane is...

a) Cytoskeleton
b) Cilia

<) Flagella

d) cCell wall

By Mr. Mohamed Mostafa
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1The_storesfood, water, The place where the protein and lipids are
wastes, and other materials in both .
manufactured in

plant and animal cells. ribosomes, endq:plasmic reticulum, and Golgi apparatus.
a) Vacuole
b) Mitochondria
¢) Ribosomes
d) Chromatin

2) An organelle in a cell that receives proteins
and other newly formed materials from

the endoplasmic reticulum packages them A. Chloroplast
and distributes them to other parts of the B. Nucleosome
cell . q
a) Vacuole C. Rough Endoplasmic reticulum
b) Chloroplast D. mitochondria
¢) Ribosome
d) GO'gi apparatus 56) Fill in the blanks using the available answer choices.
The main component for processing, tra.nsportlﬂﬂ. and storing materials is called
W Vesicles that contaln digetiv enzymesfo digest worn-out organelesor food and bacterta or Slncicaions
virus are called ..o [ the Soigl apparatus
a- Iysosomes - centrioles Correct Answer
(- fbosomes (- plasma membranes

Plants:

Types of plant Cells: ‘

Parenchyma Collenchyma Sclerenchyma
Function
« Storage « Support for surrounding tissues « Support

« Photosynthesis « Flexibility for plant « Transport of materials

+ Gas exchange

« Protection ‘
Ced man
« Tissue repair and replacement \

Collenchyma

« Tissue repair and replacement

- Which of the following types of plant cells is used to store food in the Taproot?
a- Collenchyma cells b- Parenchyma cells

¢- Sclerenchyma cells d- Endodermis

By Mr. Mohamed Mostafa
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The figure below shows the collenchyma cells in a plant. | . b duadilh WAD sl JS30 gy Which of th fllwing s a chiracteriste
Which of the following is not one of its functions? gty 0 ot 4 s g ofscleenchyma plnt clls? okl L WAl s
Cotwel s Learning Outcomes Covered -
o 1112
Collenchyma a1
)l o ol 2 iy

« BIO3I0078

i Are spherical in shape with thin cell walls.

sl iy K2 Ly

Tissue repair and replacement

2

Have an elongated shape and can be strefched,
Wiy Aol e - -

Provide flexibilty for plant

b

. gl e ) GBS )
N Lack living components when they mature,

Al Lgyd pdgp

Support surrounding lissues

<

L) Al o3

o 5o wchrge

) o SV il biind
D b Maintain the greatest variety of organelles.
R AT W ROV :
ALvate” va

- Two types of vascular tissue:

a) Xylem

(Transport water and minerals in one direction from root to leaves)

b) Phloem (Transport food (sugars and organic compounds) in both directions)

Which of the following options shows the correct directions .w,.nwmnmu@

of movement of materials in the xylem and phloem? S oladly il 4 dgal Jill s

.H{bjlou‘ - "i_’}\‘,h}.‘!w
Xylem: Up and down - Phloem: Down only

Syt faguaa ol - L8 2005

23emee

Yy Iaguam olall = L fapuua rui

Xylem: Up only ~ Phloem: Up and down

Xylem: Down only - Phloem: Up and down |

What are the functions of xylem and phioem? Tolally il iy A L

i gl el iy Ly Sl oD il iy
.|| Xylem transports water and sugars, phioem transports mineral ions

ohall gladl i Ly Sy ol el i iy
Xylem transports mineral ions and sugars, phloem transports water

i gn el = S35 fayuua sl

Xylem: Up and down - Phloem: Up only

By Mr. Mohamed Mostafa

A (el o L Ly 0 ot
sugars, phloem waler and mineral ions

.|| Xvlem

D Jalh gy L 4D oy oLl 23 iy
Xylem transports waler and mineral ions, phloem fransports sugars

A




Stomata and cuticle:

12) Which control(s) the movement of water vapor through the stomata? The puter surface of the leaf has a thin waxy coveri
QO pericycle
O bark a) blade
QO vascular tissues h] EnciE
QO guard cells
C) petiola
Correct Answer d} epidermis
guard cells Which structure helps prevent water loss and protects
11) Which of the following enables exchange of gases? the leaf?
O parenchyma
O phloem E] Palizades mesophyll
O stomats b} Spongy mesophyll
O xylem

Cj Vascular tissue

d] Cuticle

Correct Answer
stomata

By Mr Mohamed Mostafa

Which of the answer represent the M letter in the picture below?

i,
Ve '
X
Ay

Leaf Structure

- The internal structure of most leaves is well-adapted for photosynthesis.
- The palisade mesophyll is composed of tightly packed cells, column-shaped

cells with many chloroplasts for photosynthesis.

- The spongy mesophyll consists of irregularly shaped cells, loosely packed
cells with spaces in between, allowing gases to move between the spaces.

Leaf

- 3

Leaf Tissue

nay
cone o

8- Which leaf structure is the site where the most photosynthesis
takes place?

a- Cuticle b- Palisade mesophyll cell

c- Stoma d- Spongy mesophyll cell
. ‘What letter indicates the Palisade mesophyll cell?

A B

C D

-What letter indicates the Spongy mesophyll cell?

A B
o) D
32-What letter indicates the Stoma?
A B
(o) D

z| ‘Which of the following fill the space between spongy mesophyll cells?
a- Cells b- Vascular tissue ¢~ chlorophyll d- gases

By Mr. Mohamed Mostafa
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Table 6 lTypes of Stems

Spider plant

Food storage
Asexual reproduction

- Asexual reproduction

Crocus

Example
ite potato
Function - Food storage
Type
Example
Narcissus
Function - Food storage
‘Which letter of the following indicates a Rhizome stem?
1-A 2-B 3-C 4-D
‘Which letter of the following indicates a Corm stem?
1- A 2-B 3-C 4-D
‘Which letter of the following indicates a Tuber stem?
1-A 2-B 3-C 4-D
|- Which letter of the following indicates a Bulb stem?
1-A 2-B 3-C 4-D

‘What is the type of stem shown in the picture below?

a- Tuber b- Runner
c- Rhizome d- Corm
What is the type of stem shown in the picture below? N
a- Tuber b- Runner
¢- Rhizome d- Corm

White potato

- What is the type of stem shown in the picture below?

a- Tuber b- Runner

c- Rhizome d- Corm

Type THProot systerm Fibrous root system
Example
Function Anchors plant | - Anchors plant

Food and water storage - Rapid water storage

Type Modified roots—pneumatophores Adventitious —pProp roots

Example

g Fungrion =l 7

Note that:

Supplps oxygen to submerged roots

- Supports plant stems

v' Taproot is the only root that can store food and water.
v Modified roots — pneumatophores can supply oxygen to other roots.

a- Fibrous roots

a- Fibrous roots

c- Pneumatophores roots

‘Which of the following helps mangrove trees increase their oxygen supply?

b- Adventitious roots

d- Taproots

Which of the following consists of a thick root with a few smaller, lateral-branching roots?

b- Adventitious roots

£

Pneumatonhores -

Adventitious-pron roots- Tapnroots - Modified roots

¢- Pneumatophores roots d- Taproots

39- What is the type of root showing in the picture?
a- Fibrous roots
¢- Modified roots

b- prop root
d- Taproots
Mohamad Rajab
40- What is the type of root showing in the picture?
a- Fibrous roots
¢- Modified roots
- ‘Which number of the following refers
a- A
b-B
c-C
d-D

b- prop root
d- Taproots
to Modified roots- pneumatophores

s U0 T NS

1A\

By Mr. Mohamed Mostafa

9

Which of the following supports plant stems?
a- Fibrous roots b- Adventitious-prop roots

¢- Pneumatophores roots d- Taproots
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Stimulus: Light
Response:
» Growth toward light source

Response:

Stimulus: Gravity

- Positive downward growth

- Negative upward growth

Stimulus: Mechanical

Response:
« Growth toward point of

contact

‘What of tropism are roots showing in the picture?
a- phototropism b- Thigmotropism
c- Positive gravitropism
‘What of tropism are stem showing in the picture?
a- phototropism b- Thigmotropism
c- Positive gravitropism
‘What type of tropism is shown in the image?
a- Phototropism
b- Positive gravitropism
c- Thigmotropism
d- Negative gravitropism
h in the i

‘What type of trop is s
a- Phototropism
b- Positive gravitropism
c- Thigmotropism
d- Negative gravitropism
Mohamad Rajab
Which stem is exhibiting negative gravitropism?
a- A b-B

d- Negative gravitropism

d- Negative gravitropism

c-C d-D

D- No tropism

A- positive phototropism

C- negative phototropism

Integumentary system:

1- The image below represents the skin layers. Which of the

following contains the keratin laver (Melanin layer)?

B The image below represents the skin layers. Which of the

following consist of epithelial cells?
a- Epidermis b- Dermis

c- Sweat gland d- fatty tissue

16) What structure produces oil?
QO sebaceous gland

QO acne
QO hair
QO hair follicle

17) Fill in the blanks using the available answer choices.

A pigment called

Blank 1 options
= keratin

« melanin

- melanoma

Biank 1)

absorbs sunlight to protect the cell.

Correct Answer
melanin

9. Use the diagram below to answer question

Which tissue type is responsible for “goose bump™ formation

A.A C.C
D.D

By Mr. Mohamed Mostafa

3- The image below represents the skin layers. Which of the following consist of Connective tissue?

a- Epidermis b- Dermis

- Sweat gland d- fatty tissue
4-Which are not found in dermis?
a- Muscles b- sweat and oil glands.

c- fat cells d- nerve cells

5- Which of the following Dermis layer?

a-A b-B c-C da-D

6- Which of the following contains Keratin and Melanin pigment?

a-A b-B -C d-D

7- Which of the following is the type of tissue that provides support
and protection in human skin?

a- Epithelial tissue b- Nerve tissue

- Muscle tissue d- Connective tissue
8- Which of the following is found in both the epidermis and dermis layers?
a- Sweat gland, hair b- Sebaceous gland, nerve tissue.

b- Epithelial cells, keratin - Connective tissue, hair follicles

15) What important function does the bottom skin layer in this image have?

Fair shar

waterproofs skin
absorbs sunlight
regulates temperature
opens pore

0000

Correct Answer
regulates temperature
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Axial skeleton (80)

Skull and
associated
bones (29)

Sternum (1)

Ribs (24) b

Vertebral
column (26)

‘Which is part of the appendicular skeleton?
a- A
b-B
e C

d-D

Which of the following letters represents the clavicle in skeleton picture?

a- A b-D c-E d-1

‘Which is the letter representing the ribs in the skeleton picture?

e

Scapula (2)
/} :'¥/Humevus @

\ Appendicular skeleton (126)
15 Clavicle (2)

n
|
o //ucna @

Radius (2)
74

Carpal bones (16)
) Metacarpal bones (10)
i 4Phalan9es (28)
,% Pelvic girdie (2)

| Upper
limbs (60)

Femur (2)

Lower

Fibula -
e limbs (60)

Tarsal bones (14)
Metatarsal bones (10)

X Phalanges (28)

—

S0) Which is part of the appendicular skeleton?
O
O
O
O

clavicle
sternum
skull
vertebra

Correct Answer

a- A b-C -G da-F
| Which is the letter representing the sternum in the skeleton picture? clavicle
a-A b-B -G a-F .
‘Which is the letter repr the in the picture?
a- A b-C c-D d-F
‘Which is part of the axial skeleton?
a-A b-C D d-F
Types of control striated Number Presence(location)
muscles of nuclei
Involuntary No 1 : stomach
,intestines, Artry- veins
Cardiac muscle Involuntary Yes ' more In heart
| EREISESIRSEE | voluntary Yes more Attached to bones
Nucleus Ntcioue N
Striation Striation
Smooth Cardiac Skeletal
muscle fiber muscle fiber muscle fiber
- What muscles shown above are classified as yoluntary muscles?
What kind of muscle appears the figure? 00 bl ) A 5i e
A B C all muscles
- What muscles shown above are classified as involuntary muscles?
a-Aand B b-Band C
A B. C
c-Aand C d- all muscles
- What the type muscles find in your heart? —_ i
a- Voluntary muscles b- Smooth muscle
¢- Cardiac muscle d- Skeletal muscle A-Binoath ivacy slledlis A
Mohamad Rajab .
> { B-Cardiac muscle L8l B
- What the kind of muscles appears in the figure? i
a- involuntary muscles b- Smooth muscle C-Skeletal muscle L dle C
¢- Cardiac muscle d- Skeletal muscle
D- Voluntary muscle Lilee D

IWhal the kind of muscles appears in the figure?
a- voluntary muscles b- Smooth muscle

¢- Cardiac muscle d- Skeletal muscle
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tomach and intestine




‘Which of the following number sets }epr;s;nu lh‘e :orrec'l lll-str;ﬂon of muscle contraction in the

By Mr Mohamed Mostafa

ire below?

nad Rajab

-] — 3 — 2 D3 — ] —2

C- 2 mm—f 3 em— ] d-3 =———p 2 Y

‘Which of the following does the letter (A) refer to?
e

Where is the location of the Z line in the figure below?

Sarcomere
|

A

a- Relaxed muscle

b- Contracting muscle.

c- Fully contracted muscle d- non-striated muscle

‘Which ut tle followhl does lﬁe Ielter (B) refer to?

.‘1:-“'1"‘

%%%

W= =liiie
< >3 ‘ﬂ«
S >3!“

T

65) Which of the following best describes myofibrils?
QO muscle fibers composed of myosin and actin
QO muscles' functional units that contract
QO groups of antagonistic muscles
QO protein filaments that are the smallest units of muscle fibers

e iis =TEZ

)

a- Relaxed muscle b- Contracting muscle.

¢~ Fully contracted muscle d- non-striated muscle

[}

G sl A a B
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Correct Answer
muscle fibers composed of myosin and actin
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